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1. Write a portion of code that defines an array of integer of size 5, then sets the
array’s last element to -1. '
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2. Write method public static int findFrequency (String[] a, $tring s)
It returns the number of s occurring inside a. Remember that strings “cannot be

compared using = =. You must use “equals()”. 2
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3. Determine the output after main is executed.

publ:.c static void main(String[] args) { blé H‘) = C}.
int % = 1; —P Cw— 21

int [] a = {4,1,2,8};

Is-:}((]s{t:; out.println (k'(J j‘ : I = :L 1 = Z i = 3

showArrayContent (a) ;
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public static void f(@;int [1 b){ t{;z] ] lb L""] s bL}]

if (k >= b.length) return;
for(int i=k;i<b.length;i++) {

blil=b[b, length-i];

} 2
k=0; ‘f 9
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}

public static void showArrayContent(int [] a){
for(int i=0;i<a.length;i++) System.out.println(a[i]);
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4. Wgte a method that has the following header:

}

public static int[ ] mergeTwoArray (int[] al, int[] a2)

This method returns a new array that is the result of alternating between al’s element
and a2’s element, starting from the first element of al. For example, if al is{1,2,3¥
“and 22 is A45.,9,7,8}, the resulting array will be {1,4,2,5,3, 6 7,8}.
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- 5 If we want to represefit seats in a cineriia, we can use two-dimensional array of int_ e
— ~ Let our cinema have 10 rows of seats, each row contains 20 seats. —

a. Declare and initialize an array that represents the seats.

(ol Pt 15 = niw [0 ][70] |
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b. \Nﬁit@iﬂl@ﬂﬂ)d public static void book (int_row, _int_column) ﬂnat
1. If the required seat has already been booked, print out a

Warning.
il. If'fHEr—équired seat is emy an-array-element at that
positi . ’
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c. Write method public static int countEmptySeats () that counts and
returns the number of empty seats in the cinema.
o
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6. What is the output when main() is éxecuted? Illustrate how you come to your

answer.
public static void main(String[] args) {
System.out.println (£(4)) ;

}

public static int £ (int n) {
if (n<=0) return 0;
return f(n-2)+g(n-1);

}

public static int g(int n)*{
if (n<=0) return 0;
return g(n-1) +1;

} -



7. Write the following method using a loob instead of a recursive approach

public . static int £(int n) {
if (n == 0)
return O; 1 1 &
if (n > 0) o r; :}1 Az 199
return (n+3) - £(n-1); / }“ 3%
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8. Using the method f from question 7, write a complete j
results of f(i), where i starts from 1 and ends at 100.
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;,, public class Robot{

iteration? What does this code print?

int n = 0;
int i = 3;
while(i >= 0) {
n = n-1;
n = £(n);
e ,

=7

} f
System outs prlntln(n)

}

public static int £ (int n){
return n*2;
}

9. Look at the following code segment. What is the value of n at the end of each
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0. Write a Java program that prints all the solutions of x+y+z+w'=23. Each solution
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11. A cla%s — Robot - only has the following code:

private int strength;
public int getStrength () {return strength;}
public void setStrength(int s) {strength = s;}

}
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Write a no argument constructor for this class. The constructor initializes strength to 5.

Robot /
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12. Write a class RobotUser. Its main method creates 2 Robots. The first robot has

strength 10, the second robot has strength 50.
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13. Write class SuperRobot that is a subclass of robot:
/ a. A SuperRobot has an extra private variable — flying (it is a boolean)
/ that indicates whether the robot is flying.
b. It has extra methods, getFlying and setFlying, similar to getStrength
S - and SetStrength of Robot. _ -
= f It has a constructor that makes use ofa no argument constructor you o
= wrote in question 11. The constructozsets flying to a value given by a
user.
‘/d. It has instance method comparestrengtn, Which receives a Robot as an
input, prints WIN if the method caller has more strength than the input,
- and prints LOSE otherwise.

In the main method of class SuperRobot, creates 2 Robots. The first robot being an
ordinary robot (with strength = = 10) but the second being a super robot (with strength
== 20) that does not fly. Call comparestrength to compare the two robots.
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